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pagers, blue-tooth devices, I-pads and any other electronic
devices to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material,
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8) Candidate is required to attempt all questions. All
qguestions carry 1 mark each. There will be NEGATIVE
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29B

Which of the following plant hormones causes
wilting in leaves?

A) Ethylene

B) Auxin

C) Gibberlin

D) Abscisic acid

Which of these accelerate growth in plant
stems?

A) Vitamin

B) Giberlin

C) Phytochrome

D) Auxin

The reaction, Ha+Cl>—»2HCl is:

A) An oxidation reaction

B) A reduction reaction

C) A combination reaction

D) An isomerisation reaction

Which one of the following describes a system of
agriculture where a single crop is grown on a
large area?

A) Intensive Agriculture

B) Horticulture

C) Shifting Agriculture

D) Plantation Agriculture

Property of a coil by virtue of which it opposes
the change of current through it by inducing emf
in itself is called

A) Self-induction

B) Mutual induction

C) Admittance

D) Impedance

fors fiE5 Ue € faa3 Iois © 996 U3 aH+dg J AT
I&?

A) tHigts

B) wiafits

C) frgadts

D) wefiafes mivs

fegst f&9 faoz e @ 33 &9 3t o5 = gger I?

A) feerfis

B) frgggts

C) eroegu

D) niafhs

yFHfafenm, Hy+Clo»2HCI :

A) &g wrarftags yfafont I
B) fea nieads yIifafanr J

C) f&a Hums ySifafanr I

D) fea miufenfafsa ySHfafonr 3
forafeuz f&d fan o3t Yot feg ffa A eng <3 63
feg Garet 7iet 37

A) Rt gt

B) grararat

C) marsisfas gt

D) du= &t

I35 ot OF fermsT & ot faor Afe J fane € a9s feg
MUE nieg emf Uf93 Iad fer fe9 Imas T& dde &
gEse 3 daT J?

A) R-yge

B) ugnug Yde

C) ud<H

D) yIigar=e
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29B

6. Lime water is an aqueous solution of

A) Calcium carbonate
B) Calcium chloride
C) Calcium hydroxide
D) Calcium bicarbonate
7. The acid present in an ant’s sting is :
A) Acetic acid
B) Methanoic acid
C) Citric acid
D) Tartaric acid
8.  Which Governor General annexed Punjab?
A) Harding
B) Dalhousie
C) Metcalf
D) Bentic
9. Which of these four maharatnas markets steel
for the public sector plants?
A) SAIL
B) BHEL
C) ONGC
D) NTPC
10. India has one of the largest networks of which of
the following modes of transport?
A) Roadways
B) Railways
C) Waterways
D) Pipelines

10.

HaAe! At fog @ uret ferer 7et Us J

A) FSHMH IS

B) dsHMmH I&aets

C) JHMH Jretmraets
D) &M gfearagse

St © 391 e fou v Hge dev o

A) mMHfed MHS

B) nEaTed mHS

C) wrfefes »HS

D) cracfad mHs

fag3 egad Aads 3 Ung €73 agqr o312
A) Tafsa

B) s®uGHt

C) feare

D) Sxfea

fegat 919 Hala3st o9 fausT Adedfsa U39 ©
FrauTtent St ferurs &t ydte-gduz ager 97
A) Foarenmeis

B) su/shimehis

C) &

D) wadhfit

3793 feg nieret € fag3 Fus e A8 3 <37 7%
fefen Ifomr 372

A) "=d Haar

B) Jmvraar

C) wgHaar

D) yrehumretet
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11.

12.

13.

14.

15.

16.

In which of the following area of Punjab the
largest number of steel rolling mills is located?
A) Ludhiana

B) Mandi Gobindgarh

C) Bathinda

D) Jalandhar

What is the latitudinal extent of Punjab?

A) 73055' north to 76°50' north

B) 29930' north to 32°32' north

C) 30029 north to 30°30' north

D) 25%30' north to 40°32' north

Punjabi language is derived from

A) Pishachi

B) Magdhi

C) Shourseni

D) Hindvi

For which of the following industry is Bhadrawati,
Karnataka famous?

A) Cotton Textile

B) Woolen textile

C) Silk Textile

D) Iron and Steel

A reaction in which, under equilibrium, both
reactants and products are present is called as
A) Exothermic

B) Endothermic

C) Reversible

D) Irreversible

Which of the following is a mismatch?

A) Root nodules - Legume
B) Exarch Xylem - Roots
C) Smut - Puccinia

D) Endarch xylem - Stem

11.

12.

13.

15.

16.

Uars &t I fefnt faagdnt wief feg Ag 3 <0
faredt fieg vts Sfsar thsst mafus 98?

A) sBftrer

B) W3t difdears

C) gfssT

D) A®ug

UATg = wiaatHt fen39-u33 foar 37
A) 73055' §°33 3 76°50' €39

B) 29030' §39 3 32032' §39

C) 30029' €33 3 30°30' 39

D) 25030' 6739 3 40°32' €39
Urret g fam 3 yus st aret 97
A) fumrht

B) wardt

C) Honat

D) foest

. II&ed o gearedt forafeys fe5 fags Gevar =t

yfHT 97

A) Bt Uz

B) Gatauzr

C) Fmf =

D) 3T m3 feruts

8a ySHfafon fam e, H3ss € »izgas, yItaaa »3
A) 3 feamt

B) 3y gt

C) y3tegdt

D) »ufgeassHls
fors &9 faas ans 37

A) FeeH A3 - ggterg yer
B) MaAad afesH - A3t

C) dge™g - Ufartam

D) »awad AfesH - 3T
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29B

17.

18.

19.

20.

21.

What is the angle between the geographic
meridian and the magnetic meridian at a place is

called?
A) Magnetic Declination
B) Magnetic Inclination

C) Horizontal component of earth's magnetic
field

D) Magnetic dipole

Where was first World War centered?
A) Europe

B) Asia

C) Africa

D) America

Lohri is essentially a festival dedicated
A) To fire

B) To soil

C) To water

D) To moon

Who was the Governor-General of India at the
start of Quit India Movement?

A) Lord Irwin

B) Lord Curzon

C) Lord Linlithgow

D) Lord Reading

Brass is :

A) An alloy

B) A radioactive element

C) A non-metal

D) A metalloid

17.

18.

19.

20.

21.

fan HaTs € gafsa Hitms w3 gadt Higws fegaas
de g ot fagr Ater 37

A) Feoft uzaHtear

B) guctt g
c) fyaet € dut 939 = fufst 7 Seet gmar

D) gt €-ude
ufo® fere wu v deg fag Hi?

A) Eou

B) extur

C) miedtar

D) »Hdtar

&3t v 38979 Hy 39 3 fam o9 3 mHafuz 37
A) marg

B) fidta

C) U3

D) ¥e3

93 B3 MBS Hg I & I'I3 € JILIEI-1EIS JS
Hi?

A) @93 feafes

B) &d3 ddd&

C) 93 feafeadt
D) ®g3 difgar
figs fea.

A) g o3 g

B) Itowafee 339
C) mu3J

D) Guu3 J
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22.

23.

24.

25.

26.

27.

What happens to resistance of a metal with
increase in temperature of the metal?

A) Increases

B) Decreases

C) Remains same

D) First decreases and then increases

Who is the President of NSWAI (National Solid
Waste Association of India) in the year 20137
A) Dr. Amiya Kumar Sahu

B) Dr. Amrita Sahu

C) Dr. Sarita Sahu

D) Dr. Lalit Sahu

What type of organisms are Bacteria?

A) Acellular organisms

B) Prokaryotic Organisms

C) Monocellular Organisms

D) Eukaryotic Organisms

The device used for producing electric current is
called a

A) Voltmeter

B) Galvanometer

C) Ammeter

D) Generator

In which of the following state Bokaro Steel Plant
is situated?

A) Jharkhand

B) Bihar

C) Gujarat

D) West Bengal

Guru Di Maseet at Gurdaspur is

A) A garden

B) A mosque

C) Atemple

D) A gurudwara

22.

23.

24.

25.

26.

27.

for 3z € 3unTs e =T Ie &8 §H Uz € yIisu
'3 &t nfAg Yer J7

A) suater 3

B) wewerd

C) &t afder 3

D) ufgst =u wier 3 w3 feg we Aer 3

"% 2013 fEg Mennsafslend (3nss Afss are
mifERs mire fghr) & yurs de 37

A) 37, i g ATg

B) 37 nifizT Arg

C) 3. nfgzT mrg

D) 3. wfs3 Ag

gaodh fan yarg € e 95?

A) wiafieft Hte

B) Qafgfes e

C) feg dfiyeft =

D) wafsGfes e

feredt € Jde §3Us 995 Bt <93 A€ Guade &
faar wer 3

A) Soafles

B) dweaie

C) nftes

D) #a3eg

9913 HtS usste fars a4 fam i3 feg afgz 97

A) s9d3

B) fagorg

C) amars

D) U@t gares
JIIge™yd fed grig &t HHt3 ot 37
A) &g gmar

B) fea wrfre

C) fea g

D) feq qrgeear
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29B

28.

29.

30.

31.

32.

What was the immediate cause for the first world

war?

A) Assassination of Archduke Franz Ferdinand
of Austria

B) Attack on Poland

C) War between France and Rome

D) War between England and Germany

In which direction of India Punjab is located?

A) North South

B) North west

C) North East

D) South East

Italian Fascism gravitated to the right in which

period?

A) The early 1920s

B) The early 1910s

C) The early 1940s

D) The early 1900s

In which year India - Pakistan partition took

place?

A) 1954

B) 1947

C) 1956

D) 1949

Copper wires are used for electrical connections.

Why?

A) Because electrical resistivity for copper is
high

B) Because electrical conductivity is low

C) Because electrical conductivity is high

D) Because both electrical resistivity is high and

electrical conductivity is high

28.

20.

30.

31.

ufo® fere WU o 339a®1s J1a6 of H?

A) wedtn @ wirgafs8d gdw eastes & dfgmr
B) U&3 ‘3 aH&

C) eam w3 3 fegas wu
D) ffar&s »3 movat fesars v

Uatg 3793 ©ft fan fenr feg Afas 397
A) €39 duc

B) ©°39 UeH

C) €359yow

D) €4<ydy

fon g fe9 ezt et & sam A-nifuag <
famir?

A) 1920 €. T nids feg

B) 1910 €. € »idg f&g

C) 1940 . & ndg feg

D) 1900 €. @ nd3 fea

93 — Ufan3™s ot €3 fam A I1?

A) 1954
B) 1947
C) 1956
D) 1949

. 318 dhif 319t ff =33 famet € adans Bt St At

A fag?

A) fagfa 3t €t fameset yFiausst mifta 3

B) fatfa fomeh fameet aasr we 3

c) faSfy ferdt famedh grwaz mfte 3

D) fatfa fereh fammet yduasT w3 famwet
&I €< dt wiftd I8
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33. When was Asiatic Cheetah declared as extinct in

34.

35.

36.

37.

India?

A) 1952

B) 1965

C) 1976

D) 1982

Which type of rainfall is received by Punjab in
July - August?

A) Monsoon

B) Western disturbances

C) Local rainfall

D) All of these

What are negatively charged particles called?
A) Electrons

B) Atomic nucleus

C) Protons

D) Neutrons

The north-south corridor joins which of the
following places of India?

A) Srinagar to Kanyakumari

B) Srinagar to Rameswaram

C) Shimla to Kochi

D) Dehradun to Kanyakumari

Area of Punjab that is between rivers of Beas
and Satluj is called as

A) Majha

B) Malwa

C) Doaba

D) Giddha

34.

35.

36.

37.

. 3733 &9 efipet 3 & o< Buz ufis 3T famr Hi?

A) 1952

B) 1965

C) 1976

D) 1982

HSE wiam3 @ Hdts fee yarg g fam famy = i
Ter 3?

A) HGHG

B) UaHt suz

C) maraa Hig

D) f&g Arg

fo= g9n It & off faar 7reT 372

A) fe&ads

B) yHe d=d

C) I

D) fs€<s

€ 3d1-Tut afenrg 993 € It fafmit fed faas
HETST & 73€ I87

A) Hiaarg 3 Ffemmanrdt

B) Hiaarg 3 gimean

C) fimr 3 <t

D) 2gges 3 sfanranrdt

fe w3 A3EH Tt s fegaas UAe € 839 &
oft faar AreT 3

A) HtsT

B) H&<T

C) &vmar

D) farar
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29B

38.

39.

40.

41.

42.

43.

Which ceremony is observed in the morning of
the wedding day?

A) Ghori

B) Ganna

C) Gharoli

D) Jaggo

Where did Mahatma Gandhi start his first
Satyagraha movement in India?

A) Champaran

B) Orissa

C) Kheda

D) Calcutta

On which river has the Nagarjuna Sagar Dam
been constructed?

A) River Coyaba

B) River Krishna

C) River Godavari

D) River Tapti

In which year Punjab was annexed by British?
A) 1847

B) 1857

C) 1843

D) 1849

Name the joint capital of Punjab and Haryana
A) Jaipur

B) Lucknow

C) Chandigarh

D) Amritsar

When was quit India movement started by Indian
National Congress?

A) 1942

B) 1945

C) 1937

D) 1935

38.

39.

40.

41.

42.

formg =8 fos &t AR & fagdt A3 it A€t 97

A) uFt

B) drar

C) wist

D) #mdt

HI3HT A1t & 9733 feg niyeT ufasT Afswrgfa Wess
fo wg otz H?

A) Jude

B) €=t

C) &=

D) I&a3T

IMIds HAd €6 fagdt ot 3 gerfonT famr 37

A) Smirar oeft

B) famar o<t

C) Jreredt =t

D) 3yt o<

wfargdt & faa3 7 Uarg €73 agq ag f831?
A) 1847

B) 1857

C) 1843

D) 1849

Uarg w3 Ifemrer & At gauat = s &R
A) Hug

B) ®wsg

C) ¥t

D) »fzHa

. 37331 IHed JTAGH ©ATTT I3 B3 MESS J€ 1

3T famr H?
A) 1942
B) 1945
C) 1937
D) 1935

Page
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44,

45.

46.

47.

48.

49.

What is the popular food of Punjabi's?

A) Dhokla

B) Sarson ka saag

C) Thepla

D) Idly

What was the period of Second World War?
A) 1939-1945

B) 1932-1940

C) 1935-1947

D) 1938-1948

The cotton belt of Punjab is located in which
geographical region of Punjab?

A) Doaba

B) Majha

C) Malwa

D) Pothohar

Which of the following crop is a Zaid crop?

A) Maize

B) Paddy

C) Wheat

D) Watermelon

Where is Majha region?
A) Central Punjab

B) North East Punjab
C) South East Punjab
D) South Punjab

Which among the following is the most popular
dance of men of Punjab?
A) Bhangra

B) Garbha

C) Disco

D) Kathak

44,

45.

46.

47.

48.

49.

UHTE §T HAYT 376 ot 97

A) TIF

B) waW € Al

C) fus

D) fesat

o+ fene qu &t fiprre ot /2

A) 1939-1945

B) 1932-1940

C) 1935-1947

D) 1938-1948

Ure € fao3 gaifed fegrd fidg unmg & des Sue
AfEg3 37

A) v

B) wrsr

C) H&er

D) Ugqg

forafeuz fe9 faodt ens I3t W3 At € eafimms
gt A Tt (Ffee e®) eFs 97
A) Hdft

B) o

C) g

D) zagw

H'S € 439 fag J?

A) dedt uas

B) €39 ygg uw

C) Sy< ygg Ume

D) Syt uae

J& faftmit f&5 yrme € yont € /8 3 yfHu 379 fagsr
J7?

A) FazT

B) drggr

C) fsma

D) dud
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50.

51.

52.

53.

54.

55.

Which of the following are the Big Three in the
2nd World War?

A) Roosevelt, Churchill , Stalin

B) Churchill, Hitler, Stalin

C) Stalin, Hitler, Mussolini

D) Hitler, Mussolini, Roosevelt

In which year Guru Granth Sahib was accorded
the status of Guru?

A) 1664

B) 1704

C) 1699

D) 1708

Rust is hydrated:

A) Aluminium oxide

B) Copper oxide

C) Iron oxide

D) Silica

The term “New systematics” was coined by
A) Aristotle

B) John Ray

C) Julian Huxley

D) Engler

In which month Festival of Basant Panchami
celebrated?

A) Chetar

B) Magh

C) Phagun

D) Poh

What is the Sl unit of magnetic field?

A) Tesla

B) Kelvin

C) mho

D) Siemen

50.

51.

52.

53.

54.

55.

faadt °7a?

A) A&, 9998, ATTSs
B) 9ofus, foe®y, Aefes
C) wetss, fgesy, HRfeat
D) foe®a, vAfgal, guese

fgg3 A <9 919 98 Arfgg & 9 <t ue<t g &t
Afowt It w2

A) 1664

B) 1704

C) 1699

D) 1708

Ha1 Jeftges A Asuias:

A) meHiEmH MaATets J

B) Iud mraaets 9

C) »ifegs mranrdls 9

D) freftar

Hee "5 <gdftags-fefams" €t ua fegst & ot

A) wramg

B) iz 3

C) wewis Jans

D) &xarwa

g3 Yot = 36079 fags vdtd fee vatfenr e 92

A) 939

B) Hw

C) e

D) Ug

Faeft 439 =t S| fearet oft 32
A) 2rzr

B) a=fes

C)n

D) s
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56.

57.

58.

59.

60.

Under Five Kingdom classification,
Chlamydomonas and Chlorella belong to which
of these kingdoms?

A) Animalia

B) Plantae

C) Protista

D) Fungi

What is the S. | unit of electric current?
A) Coulomb

B) Ampere

C) Ohm

D) Tesla

Where is the Gobindgarh Fort?

A) Amritsar

B) Chandigarh

C) Mansa

D) Bathinda

Who was the founder of fascism in Italy?
A) Adolf Hitler

B) Emilio Gentile

C) Benito Mussolini

D) Stanley G. Payne

Teeyan festival is celebrated in which following
months?

A) Phagan

B) Cheter

C) Sawan

D) Bhadron

56.

57.

58.

59.

60.

U YAt Sgdfidas € MeHd, ISTHSHE™ M3 TSHIST
fom yarst &3 HEtus 987

A) HSTHBMT

B) uset

C) Yferer

D) &g 7t aret

foaet € gge &t S. | feardt ot 32
N

B) #hnfmig

C) &an

D) wm
difdeqs = faor fag 37
A) »iftErg

B) st

C) HaH

D) sfesT

focdt feg eHiee #f efAee™ € AFEUd dT A&?
A) »35g faesa

B) efHfet dedts

C) sfse Hrfeat

D) meast . ufes
J7?

A) g5

B) §39

C) w<s

D) 3=d
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29B

61.

62.

63.

64.

The cost of production of a product in a
particular year is Rs.600, divided between
material, labour and overheads in the ratio 4:5:3.
What will be the marked price if the profit is
equal to 10% of the labour cost?

A) Rs.610

B) Rs.625

C) Rs.675

D) Rs.650

50ltrs solution contains milk and water in the
ratio 2:3. How much water should be added to
bring the ratio to 2:5?

A) 10ltrs

B) 5ltrs

C) 20ltrs

D) 21ltrs

What is the middle number of the three numbers
which are in the ratio 5:3:4 and sum of whose
squares is 32007

A) 36

B) 24

C) 25

D) 30

What strength of 30ml alcohol should be added
to 15ml of 40% alcohol to get an average
strength of 20% alcohol?

A) 12%

B) 15%

C) 10%

D) 8%

61.

62.

63.

64.

far fefime s feg ffa G3ue <t G3ues a3
600 3. J, # fa AHardt, Haedt »3 GUdd uas feg
4:5:3 € migur3 feg &3t 3¢t 31 7d9 89 Haed! 8a3
2 10% < §379d J, 37 @3ue ¥ 5979 HS fdar I=ar?

A) 610 4d.

B) 6254.

C) 6754.

D) 650 9.

50 fgeg W fe9 €u »i3 Uat € »igsut3 2:3 31 OR
WS &9 fdar uret 39 fhstenr arer grfter 3 fa Gaat
T EU3 2:5 3 AR?

A) 10 fseg

B) 5 fseg

C) 20 fgeg

D) 21 fseg

fan f3s Witmret € fegarast Aivmr oft I3aft fret =
meU3 5:3:4 I w3 §Iat Witet € =gart @ 73 3200
3?

A) 36

B) 24

C) 25

D) 30

40% mSaas % 15t fimge feg 30t msdas
ot foat Hr3ar fhsret aret afieht 9 3t fa wigdas
A3 33T 20% JI=7?

A) 12%

B) 15%

C) 10%

D) 8%
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29B

65.

66.

67.

68.

69.

70.

Which of these cannot be the product of three
consecutive integers?

A) 336

B) 232

C) 120

D) 1320

The population of a city has increased to 105% of its
value last year. If the population this year is 3.15
lakhs, what was last year’s population?

A) 3.5 lakhs

B) 3.25 lakhs

C) 4 lakhs

D) 3lakhs

Divide 102 into two parts such that one third part of
the first and the three-fifth part of the second are in
the ratio 4:3. Find the two numbers?

A) 52,50

B) 72,30

C) 70, 32

D) 56, 46

A diver dives to a depth of 650ft into the sea and
ascends 405ft. What is his position?

A) 245ft below the sea level

B) 1055ft below the sea level

C) 145ft below the sea level

D) 245ft above the sea level

Simplify: t/2 + 22+t +5/6 + 1 +12/3 =7

A) t2/6 +t/12 + 11/6

B) 7t2/2 +3t/3 +11/6

C) 7t2/3 +3t/2 + 11/6

D) 7t%/3 +3t/2 + 1/6

The average of 20 numbers is 23.25. The average of
first 9 numbers is 21.34 and the average of the last
12 numbers is 24.01. Find the 9th number?

A) 13.18

B) 15.18

C) 15.28

D) 15.81

65.

66.

67.

68.

69.

70.

foat &9 faadt Hitmr 35 gfha ygs Aitmret €1 gres e
adt 3 At 372

A) 336

B) 232

C) 120

D) 1320

fom wfgg <t Aanfunr fde fUes s €t 3wt €9 105% =
=T Ifemm| da9a for A <t AeRTedT 3.15 B9 3, 3T UEs
7 68 &t merfo fofat H?

A) 3584

B) 3.25 84

C) 48y

D) 3y

102 & € 31 fe9 for yarg <3 fa ufa® g e f¥a f3gmet
9 M3 €1 I91 € 135 Ie7 € UAR Ia1 & mgu3 4:3 I

o2 Ayt U3t 99?

A) 52,50

B) 72,30

C) 70, 32

D) 56, 46

&g di3ndg mieg 99 650 S & arfgaret 39 394t sarger
I "3 405 g2 Uz mrEer 31 Enet mfgdt ot 972

A) miedt 38 3 245 g2 Tt

B) m{edt 35 F 1055 22 It

C) modt 3% 3 145 g2 It

D) medt 38 3 245 g2 €9

FIS J9: t12 + 212+t +5/6 + 1 +12/3 =7

A) t2/6 +1/12 + 11/6

B) 7t2/2 +3t/3 + 11/6

C) 7t2/3 +3t/2 +11/6

D) 7t2/3 + 3t/2 + 1/6

20 Fimret T wias 23.25 J| ufgdint 9 Aitprret &7 wimzs

21.34 I w3 fugeht 12 miumat @7 wing 24.01 31 9=
HIT U3T I31

A) 13.18
B) 15.18
C) 15.28
D) 15.81
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29B

71.

72.

73.

74.

75.

Fill in the blanks with correct option:
It didn't rain the wholeday. | __ have
brought the umbrella.

A) couldn't

B) should

C) won't

D) needn't

Identify the plural form of the given word:
Radio

A) Radioes

B) Radios

C) Radioess

D) Radioss

Fill in the blanks with correct option:
Could you lend me __ few hundred rupee
notes?

A) a

B) an

C) the

D) no article

Find the synonym of the question word:
Mighty

A) Strong

B) Feeble

C) Feathery

D) Adventurous

Fill in the blanks with correct option:
We should start now. The rain
already.

A) would stop

B) is stopping

C) had stopped

D) has stopped

76.

77.

78.

79.

80.

Identify the plural form of the given word:
Woman

A) Women

B) Womens

C) Womans

D) Womanss

Fill in the blanks with correct option:

you better now?

A) Are, feeling

B) Have, felt

C) Would, feel

D) Did, feel

Fill in the blanks with correct option:

My favourite subject is ____ Electronics.
A) an

B) the

C) a

D) no article

Fill in the blanks with correct option:
We can give the money to charity
spending it to watch movies.

A) in light of

B) in league with

C) on the contrary to

D) in lieu of

Fill in the blanks with correct option:

After spending a month in hospital, her health is

improving

A) in line with

B) by leaps and bounds
C) for better or for worse

D) all and sundry
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81. Fill in the blanks with correct option: ge. “dT” HET T g I?
| don't know if he plays tennis now. He __ A) IFT FITIS
when he was in college.
A) used to B) Hfox
B) may C) AT
C) might _
D) should D) HereT
82. Find the synonym of the question word: g7. Jo fou feg fersdt fEar oie g2
Blaze A) T=t
A) Flame B) fa&r
B) Warm C) xfezT
C) Heat D) AfTT
D) Fume
83. Fill in the blanks with correct option: 8g. M fag=r o 7
you in Chennai when you were a A) U¥H &<
child? B) 7=t =9 oie
A) Have, lived C) TA3 TUK &<
B) Didlive D) fedloeax &<
C) Did, lived
D) Did, used to live
84. |dentify the plural form of the given word: 89. 87 AE® = s J61 = fxgaT usste
Beach SEUSEELE N
A) Beachos A) »iforig U9 usoe
B) Beaches B) AYO €U UIaiT
C) Beachess C) UHS T9X U3sT<e
D) Beachus D) f3mT =/ox Uz
85. Fill in the blanks with correct option: 90. “IF &I fx W wtibor fourdt gz A
The rats all the wires, every now and fgags 3 I°2
then. A) nifoafes 3euzs I
A) cutted up B) Fg<t 3feuzs 3
B) cut ups C) forfos sfeus aws
C) cuts up D) genft Sfz =
D) cutup
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29B

91.

92.

93.

94.

95.

96.

“gg3z g feg mmBE” fegt feg fam
HI=T SEt @If3n aer I 2

A) MAHST i T

B) »iut feg ggst mrB=r

C) Mdr @JaT

D) »iut feg &g 83907

“QI® XTGT” HI'=I ©F nigy I ?
A) HId F&TEET

B) ©H &8=T

C) Tur ©&r

D) I& IIaT

I 7 IE geH fggt X e gU gEHE §
St afde a5 ?

A) fafanr =ziear

B) X9H =ciedr

C) X ect=d"

D) XI3T ct=d’

fafanr @ fam gu 3 usT JJ1 fa S8 AT
feg i UgT sdt Ifen Adr 9% fgar At
faasT o T8 T2

A) niferfas g3 %

B) »iUds I3 XS

C) AOJdE 833 I™H

D) HISt 83 &

AT SHK JU % HIT T8 BT I
fofemit feg faxasT Fae =afznm 7er I2
INKGIS)
B) ug
C) ni=
D) 3=

BreT 8T ITT BAST J| TR T fXIFT IU
J?

A) TIHT T

B) fermater =x

C) IS X

D) A9 X

97.

98.

99.

100.

ferms <t faast faa feg 55 nierg=t
Tt g5 ?
A) JIF TOx ferrs

for feniast © are, vidie T3 nife &§
fs IAfor a7 S 77 AT J1
A) ©
B) fS&
C) I
D) Jm

B8R fxas uzsie afde aa?
A) formgegx ussie
B) Uudd €9 U3ai<e
C) for =ox uzsi<
D) AST ¥9x UIFsie

“UfaQ” A&l Ha'ed ©F »igg J°?
A) ug 3ITT JET

B) wEgT ATET

C) feo® fegsr

D) ST+ g8t
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9) Completely darken the CIRCLE so that the alphabet inside the
CIRCLE is not visible. Darken ONLY ONE CIRCLE for each
answer as shown in the example below. The CORRECT and the
WRONG method of darkening the CIRCLE on the OMR sheet are

given below. / difgnt & ydt 391 & a4 3ffq dies € nfeg &3
TISHST & miyd & feye| Jat Beads 99 foure I »igag g
39 met dew fFq 3% § I I9| §ig Hie 3 3% § 5T 935

= Hdt M3 %3 3dtar Iat fE3T famr 31

Correct Method Wrong Method

At 3t qB3 It

D O @& C o o B o I - §
MO C

-S4~

10) In view of the tight time span, do not waste your time on a
question which you find to be difficult. Go on solving questions one

by one and come back to the difficult questions at the end. / #H €7
fims due I8, HHfS yas 3 Mue AHT SHe & ad | fea-feg
=t 3fim 33|

11) DO NOT make any stray marks anywhere on the OMR
Answer Sheet. DO NOT fold or wrinkle the OMR Answer Sheet.
Rough work MUST NOT be done on the answer sheet. Use your

test booklet for this purpose./ &g Hie 3 fa3 <t It Syar
fors &1 BarQ| ©mmrg Hie 3 &1 13 #f & Jt fem 3 e Ul Ie

7t Ty gH §39 Hic '3 fasas o1 ad| fon aH B vyt fifinr
yAfzar €t It =93 941

12) Questions are in both English and Punjabi. If any
confusion arises in the Punjabi version, please refer to the
Engllsh Yyersion_of th

uestion. /yfl?i w3 U
gt f&9 T3 ﬁa'o'uwg‘t fdu It yamat 3, 3 faaur
mwémﬁﬁm?mﬁmﬁl

13) OMR Answer Sheets will be processed by electronic
means. Invalidation of the OMR Answer Sheet due to its
folding/ wrinkling or putting of stray marks on it or due to
any other damage to it as well as incomplete/ incorrect
filling of the Answer Sheet or overwriting on the oval or use
of whitener, will be the sole responsibility of the candidate. /
SMmig ©739 Hiet & fe&adfsa fedt enrar wig it aredth feme
W3/ e uge 7t Jet Sud fors s wf fAd fa @39 dle &
MUT/As3 39N &8 FI&T AT IS §UT feueT 7 AeE I35 T8 Us
dt 293 &8 feHg ¥ae J95 98 SAHng 839 Hie € nyHfes
Jd< 3 At ffiedt Gvteeg <t d=afh
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